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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Marks are denoted on right side.

1 (A) State the characteristics, uses and limitations of 8
index number.
(B) For the given data find Laspeyer's Paasche's, 12

Dorbish-Bouley's Fisher's and Marshal-
Edgeworth's index numbers :

Commodity Base Year-2012 Current Year-2018
Price (Rs.)| Quantity (kg) |Price (Rs.) | Quantity (kg)
\Y% 6 50 10 56
E 2 100 2 120
D 4 60 6 60
A 10 30 12 24
G 8 40 12 36
OR
1 (A) Write short note on Cost of living index number. 8
(B) If total cost = Rs. 400 and cost of living index 12

number = 250, then find the missing ratios :

Commodity A B | C | D
Index Number | 225 | 256 | 275 | 300
Expense 160 | — — | 40

2 (A) Explain the components of time-series. 8

(B) For the given data fit a straight-line by the method 12
of least squares. Also find trend values :

Year | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018
Price | 140 | 144 | 160 | 152 | 168 | 176 | 80

OR
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B)
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4 A
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4 A

B)

Explain the methods for finding seasonal variation.
For the given data find seasonal variations by
method of moving average :

Year | Q1 | Oy | O3 | O4
2015 (46 [ 44 |48 | 42
2016 |48 [ 58 [ 62 | 52
2017 152166 | 60 |62
2018 |66 | 84 [ 78 | 72

Explain difference between population inquary and
sample inquary.
For a population observations are 2, 4, 6, 8, 10 and
12. From the population sample of size 4 are drawn
without replacement. Prove that sample mean is an
unbiased estimator of population mean. Also find
variance of sample mean.

OR
Explain stratified random sampling method.
For the given data find population mean and
variance of stratified sample mean :
N, =120  y =42 S57=60  n =12
N, =100 v, =45 S,> =50 n, =10
N,=80  3=50 8>=70  n,=10

Explain the types of association of atributes.
If N=2000 (o) =1740, (B) = 280 and (AB) = 100
then find Yule's coefficient of association and coefficient
of colignation.
OR

State the assumptions, limitations and uses of
linear programming.
Maximize the objective function 2:3x+4y by the
method of graph with following constraints :

2x + by < 120

4x + 2y 80

<
X2>0> yZ’O

12

RY-002-001605 ] 4 [ 2250/52-69 ]



